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Rectangle


- - .. Today's_Number: 17,397 486" ~

Name: ##:

Day 1

100,000 times less than the millions digit

Round today's number to ten thousands place

Add

486,572: 9,875: 17,397:

Order least to greatest
3,708,417: 3,807,714: 3,748,713

9[15[17  Find the

(1771611 missing digits.

Subtract.
304,103 - 96,576 =

+
172764873

7x6 =
100,000 times your answer

Ruby and Jane read a total of 16,049
books. How many fewer books did Mark and
James read if James read 847 books and Mark

read 396 books?
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— Day 2

Name:

Today's Number: 10,497 352

Write today's number in standard and expanded
form

Round today's number to nearest ten thousands place

Add

Order least to greatest
437,658: 97,496: 8,176,549 1,909,899: 1,099,999: 1,900,998
Subtract.
T 500,103 - 297,354 =
8 [ ] 6 Find the
0 12[ 1 [ 1 missing digits.

12x8
1,000 times more than answer

Barbara raises spiders, she has over 10,000 tanks
she keeps them in. She has 3,957 Daddy long-leg
spiders and 7,016 grey spiders, how many more grey
spiders does she have?
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Bayd

Name: ##:

Today's Number: 71,109,853

Werite today's number in word and expanded form

First 5 multiples of 7

Add 4x6
264,976: 4,362: 56,874

8x8

7x9

Order the sum of answers least to greatest

5[ 17 [ ] 3 Find the 9[ 17 [ 13 Subtract. Find the

#[ 12 16 [ 1 missing digits. =T 11T 127 1 missing digits.
14 6 9 9 5 : 5 2 8 5 6

Bx[ ] =64

Byron has a Hot Wheel collection, he keeps his
collection in 6 tubs. Each tub holds 1,364 Hot
Wheels, how many Hot Wheels does Bryon have?
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Name: #: ‘

. Doy 4~ ———

Today's Number: 16,976,498

16,976 x 8

27 x b

13 x 12

18 x 93

Find the sum of the products, then multiply by 9,

finally expand number.

First 5 multiples of 29

8[ 13 [ 12
[

Find the 7[ 19[ 14 Subtract. Find the

missing-digits- =J ] 6_[ ] 9 [ ] missing-digits.
2 1

3 0 1

76 x 43

There are 108 fourth graders at Green Forest
Elementary. For the Thanksgiving feast each
student will get one slice of pumpkin pie. If pies
come 8 slices to a box, how many boxes of pies are
needed to feed all 108 fourth graders?
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Name: #:

Day 5
Today's Number: 11,789,553
Round to nearest thousand, one hundred times 7,893 x 6
greater than rounded number.
First 5 multiples of 7 8x9
9x7
6x6

Find the products, then multiply sum of numbers by
7

41 17 [ 1 6 Find the

+[ 18 161 ]

missing digits.
12 7 3 2 4 -

] 8 Subtract. Find the
missing digits.

Which of the following numbers are factors of 24

0,1,3,5,7,9, 11, 10, 12, 2, 4, 6, 8, 24

Jennie makes quilts. She can make 7 quilts with 21
yards of material. How many yards of material
would be required to make 12 quilts?
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